Efficiency vs dr

0.5¢
0.45F -+

0.35F

efficiency vs AR
=}
D
|

©
w
TTTIT

0.25k
0.2F 4
0.150 | ,
0.15 H
0.05%--- i

JOF

el

H

Ratio

1.05[ - DOM_mKFit_TT baseline_6iter

DQM_mkFit_TT_RetrainV2_WP2_6iter

==

DOQM_mKFIt_I Ibase
DQM_mkFit_TT_retrainOldFiles125_v2_prelimWP_5iter

QLI LG L

LT T TR T IECT:
oo R L AT L i
107 1072 107

1
TP min AR

[y

[ Efficiency vs dr (track,jet) |
g Ok
0 0.09F
= E
o
z 0.08E
20.07E
> E
2 0.06F
9] E
2 E
20.05F
(] o
0.04F
0.03E
0.02f

107 1072 107t
AR(TP, jet)

0.2

Yy Vs PU
o
HIN
T

SYORT, SO ORSJ NARRNS NENE S W
RN S RO S e S 0 <
= Eoo : : : : : :

R Bt R IR SR N BRI &

en

Ratio

iy
TITTTTTT
"
2.

09563640 50 60 70 80 980 100
Pileup



	Contents
	Page 1


